fol
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39 39
[ JnELEIE=IN
A. RESAHI
3. 2xe=2 644,775,451 538,870,464 |  83.6%
[ Al 644,775,451 538,870,464 83.6%
B. & BAHI
N2 L 2 XE L 2H| x 10.3% 45,751,326 30,812,955 |  67.3%
AN M B 82 L2l x 3.8%
Jn e 8HE L 24| x 0.88%
4B AHY ks F=tel 7,551,189 7,551,189 |  100.0%
5) =20 o Nk =l 11,060,272 11,060,272 [ 100.0%
6) LOIEIIR kP10t 494,602 494,602 | 100.0%
8) ALIOLE B 22| (TH+E =+ 2 3)#1.97% 10,926,304 5,388,704 |  49.3%
" ggé&' HE=ZSH (RH+R =+ A Z)%0.41% 3,190,554 3,190,554 |  100.0%
12) JIEFZH (HEHI+-2H) x 5.41% 34,459,918 34,459,918 |  100.0%
13) & BF 2 Lt. x 4.6% 34,761,446 34,750,501 |  100.0%
14) ol (+B+LBHx10.17% 69,165,571 48,674,841 70.4%
[ Al 217,361,182 176,383,536 81.1%
cHeFe)
[22H9 ] 862,136,633 715,254,000 |  83.0%
[ 2ot ] 86,213,663 71,525,400 | 83.0%
[ H%2H] 948,350,296 786,779,400 |  83.0%




doteg =
SME: 2XNE 575N R ASHLAIE EXISAM
3 Ste3U
32359 73 e HIg Hl D
=g & ot =R > & ot 3%
INE 57546 232 ASHZAE EXSM 644,775,451 538,870,464 83.6%
3. X232 644,775,451 538,870,464 83.6%
3.14 =21 2% 644,775,451 538,870,464 83.6%
a. AR2Y
a1 ZEREX(EPMA) M= &L X Ton 45.384 4,059,235 184,224,319 | 45.384 2,894,502 131,364,078 71.3%
a-2 §E2 M&E 2 £X Ton 10.265 4,059,235 41,668,046 | 10.265 2,894,502 29,712,063 71.3%
La3 JIESHM AN () m 309 22,333 6,900,897 309 15,517 4,794,753 69.5%
a-4 2 g =& Bt SeAL 2t m 626 4,436 2,776,936 626 3,262 2,042,012 73.5%
a5 ZMEFH(F2) e =& m 425 23,929 10,169,825 425 17,182 7,302,350 71.8%
L.a-6 ZMEFH(F2) AR F m 108 24,096 2,602,368 108 17,515 1,891,620 72.7%
..a-7 HtExel m 1062 3,194 3,392,028 1062 2,330 2,474,460 72.9%
a8 2 PHED| T=12mm = 13516 1,590 21,490,440 | 13516 1,131 15,286,596 71.1%
a9 2 2HED| T=14mm = 1092 1,867 2,038,764 1092 1,264 1,380,288 67.7%
a-10 2 FHEI| T=22mm = 736 2,898 2,132,928 736 1,997 1,469,792 68.9%
a-11 &2olE =g 2 AXI(EPMA) D/ [E 108 76,924 8,307,792 108 215,815 23,308,020 280.6% X =
a-12 S2L206E =8 &L HX(EPMA) D/ [E 108 114,937 12,418,196 108 270,960 29,263,680 235.7% KX =
a-13 2 20| 2t EA 48 1,429 68,592 48 999 47,952 69.9%
a-14 CIAZE2E(F10T) M22x115 ea 256 2,349 601,344 256 1,798 460,288 76.5%
a-15 CtAZEE(F10T) M22x95 ea 3168 2,106 6,671,808 3168 1,665 5,274,720 79.1%
..a-16 2= E(F10T) M22x90 ea 364 2,106 766,584 364 1,598 581,672 75.9%
..a-17 G322 E(F10T) M22x80 ea 480 1,944 933,120 480 1,631 734,880 78.8%
..a-18 2= E(F13T) M22x75 ea 48 3,078 147,744 48 2,397 115,056 77.9%
L.a-19 32 = E(F10T) M22x70 ea 364 1,863 678,132 364 1,465 533,260 78.6%
a-20 CtAZEE(F10T) M22x65 ea 364 1,863 678,132 364 1,398 508,872 75.0%
a-21 LIAZE2E(F10T) M22x60 ea 148 1,782 263,736 148 1,398 206,904 78.5%
a-22 LIAZE2E(F10T) M20x60 ea 6240 1,296 8,087,040 6240 999 6,233,760 77.1%
a-23 2AHHd g L AXI(EPMA) D15.2 Ton 4.336 567,528 2,460,800 | 4.336 2,132,198 9,245,210 375.7% PAYALPNE=
a-24 ZAHEH RS PNES m 17 3,415 399,555 17 2,463 288,171 72.1%
a—-25 QI &= (EPMA) CHoIE M 162 53,268 8,629,416 162 37,362 6,052,644 70.1%




[0
91
H

SAE =X& 57 3 H2ZAE &
E3Uy =]
3 (=51 HIg Hl D
> =3 =29 o =3 E

...a-26 23 &X D/ EN 162 1,247 202,014 162 931 150,822 74.7%
...a=27 ATHHel Ton 0.01 -311,850 -3,118 0.01 -199,800 -1,998 64.1%
b EEUHZB
..b-1 BRESAIA&(SEIHMI114528) [1000kN b/ EN 128 856,002 109,568,256 128 630,102 80,653,056 73.6%
b2 E2 0= =8 = Ton 0.387 491,946 190,382 | 0.387 348,850 135,004 70.9%
...b-3 2232IE M| HI(AE) m 4 162,621 650,484 4 120,546 482,184 74.1%
...b-4 232E ¥ m 34 22,940 779,960 34 16,250 552,500 70.8%
b5 AREIACE m 34 27,412 932,008 34 19,912 677,008 72.6%

b-6 &2 HEZ 33| m 7 25,887 181,209 7 18,647 130,529 72.0%

b-7 AHOIA HiE m 7 170 1,190 7 133 931 78.2%

b-8 R+= 22 &t m 3.6 186,802 672,486 3.6 1,079,586 3,886,509 577.9%

b-9 W& o ea 10 490,964 4,909,640 10 355,110 3,551,100 72.3%
c. 204

c-1 2L (M Ton 60.616 20,604 1,248,930 | 60.616 15,250 924,394 74.0%

c-2 2L (B Ton 55.648 20,442 1,137,555 | 565.648 14,784 822,700 72.3%

c-3 3SHIA m 3375 27,253 91,978,875 3375 19,512 65,853,000 71.6%
d. At=S XHIH

d-1 0OIE€ &2 D16M/M Ton 0.399 510,300 203,609 | 0.399 399,600 159,440 78.3%
d-2 -2 100X100X10 Ton 0.473 664,200 314,166 | 0.473 526,140 248,864 79.2%
..d-3L-8Z 200X200X15 Ton 2.122 810,000 1,718,820 | 2.122 634,032 1,345,415 78.3%
...d=4 Plate T=8mm Ton 1.232 972,810 1,198,501 1.232 761,238 937,845 78.3%
...d=5 Plate T=10mm Ton 6.109 908,820 5,651,981 | 6.109 711,288 4,345,258 78.3%
...d—6 Plate T=14mm Ton 12.683 899,100 11,403,285 | 12.683 703,962 8,928,350 78.3%
...d=7 Plate T=20mm Ton 38.47 899,100 34,588,377 | 38.47 703,962 27,081,418 78.3%
...d-8 DXl Ton 4.979 -311,850 -1,552,701 4.979 -199,800 -994,804 64.1%
.e. otRE2Y Al 1 50,396,000 50,396,000 1 58,427,838 58,427,838 115.9% PAYALPNE=
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s s & = 2o e 2o Chl
EEIEN
= F 2 A
EEYIEDIE 301,215,832 186,240,000|  61.8%
[ & A 301,215,832 186,240,000  61.8%
2HE 2 A
2E P NEL-D 17,746,702
2oy E XE L 2H| x 1.70% 2,929,067 2,929,067| 100.0%
oo 2y s NEL 4,290,222 4,290,222 100.0%
COEIQURHE f:’ia 191,853 281,009 146.5%
Al OLE B 1 B2 (RH+2 =+ 2 2)%1.97% 5,675,451 860,000  15.2%
10) A& U2 NSESA R+ 123,498 123,498|  100.0%
11) JIE+Z L] (RX”A;ELH 16,545,980 300,000 1.8%
12) 9 B 2 2l b (Hﬁ%‘f 16,767,570 2,000,000  11.9%
13) 0l = (e +H+2LPHx10.17% 26,999,731 976,204|  3.6%
[ & 2 91,270,074 11,760,000  12.9%
Sz
[ 220t 392,485,906 198,000,000|  50.4%
[ 2 bA o 39,248,591 19,800,000  50.4%
[ He=o 431,734,497 217,800,000|  50.4%




C2Uu SES U 5
=l e =T Hl bl 2
e £} 2o e =5 2o il
H OI0| A2 0L S A

3. X232 301,215,832 186,240,000  61.8%
3.01 $SEEIIE 301,215,832 186,240,000  61.8%
.e. DlolazmeY 301,215,832 186,240,000 61.8%
..e-1 0ol =zmd L=8.0m = 12 1,981,681 23,780,172 12 1,130,000 13,560,000 57.0%
..e-2 0tolazmd L=9.5m = 132 1,981,683 261,582,156 132 1,230,000 162,360,000 62.1%
...e-3 00l =zmd L=10.5m = 8 1,981,688 15,853,504 8 1,290,000 10,320,000 65.1%




ol = W
dote=Z2 UHlE
DAY 2XEH7EH RIET2 ASHLAE AX2AE DASHZ/USY AMS0ISEI &X
T2 W4 o] e=a=10 =]
= & 7 = =L Hl 2
(= = =N SOt = =N S22
WBEHB/ASY MS0ISEX EX
A. T S AHHI
2xe2 Al 861,688,948 1 912,964,474 106.0%
[ & A ] 861,688,948 912,964,474 106.0%
B. 2t& S AHH|
HN2E L 2 AFHL-2H| x 10.3% Al 30,004,406 1 7,828,583 26.1%
JyZoHAYEE2 AFHL-2H| x 1.70% Al 4,952,183 1 4,952,183 100.0%
4) =2 9l 2 82 8 AFHL-2H| x 2.49% Al 7,253,492 1 7,253,492 100.0%
. 20IHALE 2 x
5) LOIZD|QAEE2 Q Al 475,103 1 475,103 100.0%
6.55%
6) S BN S AHL-2H| x 2.3% Al 6,700,013 1 6,700,013 100.0%
7) At orE E A B2 (RH+R -+ 2 2)%1.97% Al 16,659,667 1 9,129,644 54.8%
10) AEIIHUHAHUZ NSESH L2 (RH+E = +4->2)%0.41% Al 353,292 1 353,292 100.0%
= Lo
11) JIE+ZHI gi;/'j”*TH') X Al 47,373,899 1 7,828,583 16.5%
(RE ZAHH[+2tE Z A
ol d} 1} Al °o
12) & ot 2 2| Hl H1) x 4.6% Al 45,949,388 1 7,828,583 17.0%
13) 0l 2 (c+B3+2LBHx10.17% Al 49,882,389 1 19,486,050 39.1%
[ & Ao ] 209,603,832 71,835,526 34.3%
SEHe| -92,780
[ 221 % ] 1,071,200,000 984,800,000 91.9%
[ 2JA® ] 107,120,000 98,480,000 91.9%
[ Ht2H ] 1,178,320,000 1,083,280,000 91.9%

3uo]A] T 1301~




T3ud stz 3
7 A
e} 2 =9 =¥ g =9 o ==1-1

[ EmE Lk Xl &x

3. PxE2 861,688,948 912,964,474  106.0%
mEL
.3.03 &SEHYE STA.0+354.080~0+49 861,688,948 912,964,474  106.0%
3.080)=139M
..a XX 496,836,862 546,873,257 110.1%
La-l PEE eAAD ®216.3mm x 6mm 810,000 45 36,179,460 630,000 44.666 28,139,580 77.8%
a2 PR BAAD ®139.8mm x 6mm 810,000 50 40,519,440 630,000 50.024 31,515,120 77.8%
.a-3 X8 BAAD ®89.1Tmm x 4mm 810,000 13 10,755,990 630,000 13.279 8,365,770 77.8%
a4 PR AU o 75x75x2.3M/M 729,000 7 5,331,906 525,584 7.314 3,844,121 72.1%
..a-5 2 4.0T 891,000 9 8,315,703 601,507 9.333 5,613,864 67.5%
..a—6 2T 6.0T 891,000 8 7,247,394 691,123 8.134 5,621,594 77.6%
a7 ZW 9.0T 891,000 8 7,343,622 660,516 8.242 5,443,972 74.1%
..a-8 2 12.0T 891,000 12 10,640,322 634,548 11.942 7,577,772 71.2%
..a-9 2 40.0T 891,000 20 17,449,344 642,015 19.584 12,573,221 72.1%
La-10 ¥2 30x50%3T 2,889,270 4 11,236,371| 4,036,075 3.889 15,696,295  139.7%
a-11 Y2 60x60x4T 3,714,660 6 23,112,614 4,901,110 6.222 30,494,706|  131.9%
a-12 W2 50%100x4T 3,714,660 8 29,639,272 5,189,078 7.979 41,403,653  139.7%
a-13 Y2 110x200x4T 5,778,540 10 57,172,874 8,072,149 9.894 79,865,842|  139.7%
a-14 NHHEEE M12x40mm = 162 8,284 1,342,008 200 8284 1,656,800  123.5%
a-15 NHHEEE M16x70mm = 405 937 379,485 800 937 749,600  197.5%
a-16 DHHEEE M22x70mm = 810 9,228 7,474,680 1,500 9228 13,842,000  185.2%
a-17 LEUHEE(2S0HE2) M25x600L 712 1,297 923,464 6,506 1297 8,438,282  913.8%
a-18 HHt M= 13,066,340 4 48,855,045 13,037,581 3.739 48,747,515 99.8%
...a-25 DT} NE= 1,474,200 61 89,491,311 1,800,000 60.705 109,269,000  122.1%
..a-26 B0t & 445,500 187 83,426,557 470,000|  187.265 88,014,550|  105.5%
3|1 x] F 27]0] A
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321,112,086

312,091,217

97.2%

AHAH100T Ol &)

ton

366,548

40,244,770

359,967

39,522,216

98.2%

oo,

2H(80TOI 4 150T
k

ton

37,201

4,084,446

35,082

3,851,793

94.3%

ton

38,534

4,219,357

36,368

3,982,186

94.4%

>

=0l : 6~7M

EA

41,436

52,209,360

39,103

49,269,780

94.4%

O |

HL

ton

2,635,699

205,064,513

2,397,562

193,893,236

94.6%

HI
O

ton

508,436

95,076

461,342

86,270

90.7%

2

Z1EA=6M

EA

12,100

12,450,900

11,387

11,717,223

94.1%

TON

10,035

1,913,323

10,416

1,985,966

103.8%

TON

244,290

830,341

2,289,658

7,782,547

937.3%

43,740,000

54,000,000

123.5%

7,290,000

43,740,000

9,000,000

54,000,000

123.5%
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TANY : 2NCETEH LETR ASHLAL SXBA S EABSAL XM
T2 U St=3U 3
z s e o) S
+3 £} =L +3 =5/ =L il
HSZ2ESAE EXSA
| Z 3 AHHI
3. Pxez 4 1 365,970,150 1 310,478,000  84.8%
[ & A ] 365,970,150 310,478,000  84.8%
2AE DA
1) deiorR B A2l W+ +212)+1.97% | A 1 3,104,780 1 3,104,780 100.0%
ALIIHUGUHE NSLEN LB (H+RC+a2)«0.41% | 4 1 150,047 1 150,047|  100.0%
=T (] +2= 280) X A 1 19,798,985
ST Vg Ean |y 1 18,248,062 1 20,000,000{ 109.6%
7) 0l 2 (C+2+2L8)x10.17% | A 1 4,980,748 1 5,267,173  105.8%
[ 2 A ] 46,282,622 28,522,000  61.6%
S43e) ~52,772
[ 22ty ] 412,200,000 339,000,000  82.2%
[ 2oAY ] 41,220,000 33,900,000  82.2%
[ Wz ] 453,420,000 372,900,000|  82.2%

29 0]#] F 1301~




EE U seau 5
) + =% =L + €} =L chl
H2ENE SNBA
365,970,150 310,478,000 84.8%
365,970,150 310,478,000 84.8%
2,317 157,950 365,970,150 2,317 134,000 310,478,000 84.8%

25014 % 25]0]
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2 = 2
= ° +3 et o S il
WSSPEIAE BB
R
. S&P EtAEE B B4 1 209,289,792 108,998,820 52.1%
[ 2 Al 209,289,792 108,998,820 52.1%
2EB A
2HE & 2 dl 1 8,354,520 5,684,168 68.0%
SALEEH= 1 1,378,901 1,378,901 100.0%
4) =0 3 2 E 1 2,019,685 2,019,685| 100.0%
5) LI QUYBEE 8= x 6.55% 1 132,289 132,289 100.0%
7) At ot E M 2te| ] +23)%1.97% 1 2,920,489 2,147,276 73.5%
AAJ[HUHU= X 1 85,808 85,808 100.0%
11) JIEFZ Y (HZ2HI+=2H]) x 5.41% 1 8,472,206 7,454,394 88.0%
12) & 8 2 2| dl 1 11,074,355 7,034,573 63.5%
13) Ol Z 3+ BHx10.17% 1 17,964,181 7,064,086 39.3%
[ 2 Al 52,402,434 33,001,180 63.0%
ch=Hel -92,226
[ 32 ¥ 261,600,000 142,000,000 54.3%
EEYE 26,160,000 14,200,000  54.3%
[ =t 287,760,000 156,200,000 54.3%
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32U 5
i 4+ £t 2o 2y 29 il
W SgPE AT
209,289,792 108.998,820)  52.1%
HEYH 2 209,289,792 108,998,820 52.1%
sad 111,088 209,289,792 1,884 108,998,820 52.1%
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DAY FNEE7EH LT ASHRAL SXSA S 4ST L SSEHY BAANLSA
cEue stESU 3
3 3 7 A e n n EHI?;
2 et =L a2 =5 =L
W 2SS 2 YSHE HIANESM

A. ZESAHI
3.03 #SEE TN 1 263,350,544 1 187,467,600  71.2%
3.04 2SEE ez A 1 169,324,830 1 134,716,600(  79.6%
3.05 2 SEL D72 A 1 48,494,575 1 36,954,700(  76.2%
3.06 2SEL XI5 a2t A 1 214,519,185 1 170,517,100]  79.5%
3.07 #SEE XI5 ER2 S0 A 1 78,382,080 1 50,019,200(  63.8%
3.08 23 2 =59 244 Al 1 144,614,459 1 104,904,600(  72.5%
3.00 HSEE AL A 1 1,562,843,400 1 1,529,770,491|  97.9%
S 2,481,529,073 2,214,350,291|  89.2%

B. 2 EIAHI
1) 2 E = 2 b HF = 24| x 10.3% A 1 96,998,856 1 55,274,098|  57.0%
=oAL FEE HF = 24| x 1.70% A 1 16,009,519 1 16,009,519  100.0%
HRoe 32 NF =Pl x 2.49% Al 1 23,449,238 1 23,449,238|  100.0%
5) =OINIQYREE RVAYBEE x 6.55% A 1 1,048,623 1 1,048,623|  100.0%
6) SN BH | HF = 2H| x 2.3% A 1 21,659,938 1 21,659,938|  100.0%
7) drejord A el (Th+X =+ 2 2)51.97% Al 1 48,886,122 1 21,815,256|  44.6%
10) AEINHOIHS NSESA LSS (+E =+ 20)+0.41% A 1 1,017,426 1 1,017,426|  100.0%
11) JIEFAHI (HEHI+=2H]) x 5.41% A 1 139,498,360 1 116,603,295  83.6%
12) 2 et e o2l oyl (REBAHI+ZE B A) x 4.6% A 1 133,533,624 1 108,447,735|  81.2%
13) ol 2 (e +2+2EHX10.17% Al 1 152,208,887 1 205,324,581|  134.9%
[ 2 2 1] 634,310,593 570,649,709|  90.0%

SeHel -39,666

[ 2309 ] 3,115,800,000 2,785,000,000|  89.4%
[ 2o Mo ] 311,580,000 278,500,000)  89.4%
[ 23 ] 3,427,380,000 3,063,500,000|  89.4%

4#o]A] & 1301




EVE sE2ue 5
2 = 7 = @e i b2
2 =9 =N 3 =) =
B USE Y USHE FANLBA
3. pxsz 2,481,529,073 2,214,350,291|  89.2%
3.03 22EY (sl;d/\%.;:as 4.080~0+493.080)=139M 263,350,544 187,467,600  71.2%
a Xl
a-27 SOY SHUSH(YSEHY D) 1840x1000 (PCIOT.HHE2EEE) | Of 50| 400,950 2,004,750 50/ 319,000 1,695,000  79.6%
a-28 018 SHAUST(YSHE D) |1740x1000 (PCIOT.BHE2LTE) | Of 345.0| 386,370 133,297,650  345.0|  307.400 106.053,000]  79.6%
a-20 SOIY SHUSH(YSHY D) |1740x1000 (FHEER2.10.76T) | Of 276.0| 457,051 126,146,076|  276.0] 287,100 79,239,600|  62.8%
a-30 S22 SHAUST(LYSHEY D) |1840x1000 (ZHEER2.10.76T) | Of 40| 475517 1,902,068 40| 145.000 580,000|  30.5%
3.04 BSEW Eax 169,324,830 134,716,600  79.6%
a. TGl
a-13 28 SHYSH(YSHY) 1960x400 (PC10T,51S TSl T ) oy 440| 211,410 9,302,040 440] 168,200 7,400,800  79.6%
a-14 S35 EXUST(YSHY) 1960x1000 (PCTOT,51S 21 @8 |  of 218.0| 419,175 91.380,150|  218.0| 333,500 72,703,000  79.6%
a-15 S22 SygSm(E L) 1960%1000 (23t & a 22l 10.76T) |  Of 176.0 390,015 68,642,640 176.0 310,300 54.612,800|  79.6%
3.05 Y2EY DX 48,494,575 36,954,700  76.2%
a. TGl
s-06 SOI2 SHWSH(YSEQ)PCH  |1960x1000 (PCIOT,SIE 2SI ZE) | of 80.0| 419,175 33,534,000 80.0| 333,500 26,680,000  79.6%
§-27 BOIP SHWSH(YSEHY)PCH  |1960x400 (PC10T,3HE RS L&) oy 16.0] 211,410 3,382,560 16.0] 168,200 2,691,200  79.6%
s-08 SOI2 SHWSH(YSEQ)PCH  |1460x1000 (PCIOT,SIE 221 Za) | of 50| 335340 1,676,700 5.0/ 266800 1,334,000  79.6%
$-20 BOIT SHWSH(YSEHY)PCH  |1460x400 (PC10T,3HE RS L&) oy 10| 178,605 178,605 10| 142,100 142,100 79.6%
.a-30 B0 EXUSTH(LSHYE) 1960x500 (25+& 8 221,10.76T) oy 6.0 290,850 1,745,100 6.0 182700 1,096,200]  62.8%
..a-3] BRT SHUSH(BSHY) 1460x500 (2 81& 8 221,10.76T) o 20| 230,833 461,666 20| 145,000 290,000|  62.8%
La-32 B0 EXUSH(USHY) 1960x1000 (23t & 22, 10.76T) |  Of 12,0 493,984 5,927,808 12.0]  310.300 3,723,600  62.8%
..a-33 BRiT SHUSH(HSHY) 1460x1000 (23t & B 92l 10.76T) |  Of 40| 397,034 1,588,136 40| 249,400 997,600|  62.8%
3.06 $2EE XHRHE 2 214,519,185 170,517,100  79.5%
a-13 SOI8 SHUSH(UYSEL)PCE  |1960x500 (PC1OT,5IE RS T &) o 9.0 244,215 2,197,935 9.0] 194,300 1,748,700]  79.6%
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SN st=au 5
7 2 =
sz 2t 2o 2 et 2o CHul
1960x1000 (PC10T,5t=E2E L &) 330.0 419,175 138,327,750 330.0 333,500 110,055,000 79.6%
1560x1000 (PC10T,otE2E X&) 15.0 353,565 5,303,475 15.0 281,300 4,219,500 79.6%
1960x500 (PC10T,ot=E2 & &) 9.0 244,215 2,197,935 9.0 176,900 1,592,100 72.4%
1960x500 (2 sty &t =2l,10.76T) 28.0 229,635 6,429,780 28.0 182,700 5,115,600 79.6%
1960x1000 (3t & & =2l,10.76T) 154.0 390,015 60,062,310 154.0 310,300 47,786,200 79.6%
NotRE 52 78,382,080 50,019,200|  63.8%
1960x500x95T 56.0 229,635 12,859,560 56.0 127,600 7,145,600 55.6%
1960x1000x95T 168.0 390,015 65,522,520 168.0 255,200 42,873,600 65.4%
=20 S 2 144,614,459 104,904,600 72.5%
1960x1000x95T (M &= 218.38T) 52.0 390,015 20,280,780 52.0 255,200 13,270,400 65.4%
1960x500%x95T (& & =218.38T) 130.0 229,635 29,852,550 130.0 127,600 16,588,000 55.6%
960x1000x95T (& & =2l8.38T) 2.0 195,007 390,014 2.0 127,600 255,200 65.4%
960x500x95T (& &= 218.38T) 5.0 97,503 487,515 5.0 63,800 319,000 65.4%
1960x1000 (Z3t&E&%=2l,10.76T) 240.0 390,015 93,603,600 240.0 310,300 74,472,000 79.6%
1,562,843,400 1,529,770,491 97.9%
W=0.85M,B=2.0M-& 8 =
W=19.0M 128.8 682,654 87,925,835 128.8 516,266 66,495,060 75.6%
W=19.0M~24.56M®B1 3} 22+ 26.0 682,658 17,749,108 26.0 515,031 13,390,806 75.4%
W=24.5M 93.5 682,654 63,828,149 93.5 515,410 48,190,835 75.5%
W=24.5M,22u 72t 138.0 682,654 94,206,252 138.0 515,030 71,074,140 75.4%
W=0.875M,B=2.0M-&% %, <2
2LINE
W=19.0M 128.8 704,562 90,747,584 128.8 805,671 103,770,424 114.4%
W=24.5M 93.5 704,563 65,876,640 93.5 805,884 75,350,154 114.4%
W=24.5M,2 272t 138.0 704,562 97,229,556 138.0 800,499 110,468,862 113.6%

W=0.875M,B=2.0M-=4 X,
2LINE

o
-
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AT CI=EN 2
2 = 7 2 ge — — — — e i)
% =)} =L 23 =9/ 3o
c—1 172+ W=19.0M M 128.8 1,114,389 143,533,302 128.8 818,849 105,467,751 73.5%
...c=2 272t W=19.0M~24 . 5MH 3t 72 2+ M 26.0 1,114,386 28,974,036 26.0 813,460 21,149,960 73.0%
..c—3 372t W=24.5M M 93.5 1,114,389 104,195,371 93.5 814,639 76,168,746 73.1%
...C—4 45124 W=24.5M, =21 72t M 138.0 1,114,389 153,785,682 138.0 813,357 112,243,266 73.0%
= = —_=EHAIE X2
4 =9 as ez \é\/l_”(\)“.E655M,B 2.0M-SHAR K2
..d=1 172t W=19.0M 128.8 817,972 105,354,793 128.8 760,318 97,928,958 93.0%
...d-2 252+ W=19.0M~24 . 5MH 3t 72 2+ M 26.0 817,972 21,267,272 26.0 765,263 19,896,838 93.6%
...d-3 342 W=24.5M M 93.5 817,972 76,480,381 93.5 760,075 71,067,012 92.9%
...d—4 45224 W=245M,=22 72t M 138.0 817,972 112,880,136 138.0 758,995 104,051,310 92.2%
e EYR(YS) W=1.0M,H=2.4M
..e-1 1322t W=19.0M D EN 2.0 2,182,466 4,364,932 2.0 1,494,294 2,988,588 68.5%
...e=2 372t W=24.5M D/ E 6.0 2,182,469 13,094,814 6.0 1,494,294 8,965,764 68.5%
e—3 4712+ W=245M,=22 72t D EN 6.0 2,182,469 13,094,814 6.0 1,494,294 8,965,764 68.5%
. BEZ AtCke]
f-=1 1722t W=19.0M D EN 2.0 2,678,779 5,357,558 2.0 2,535,482 5,070,964 94.7%
f-2 47224 W=24.5M,=2 1 72t D/ ES 2.0 2,678,779 5,357,558 2.0 2,396,253 4,792,506 89.5%
g. 4SHYE ¢ oHE 2t
...g-1 372 W=24.5M D/ ES 1.0 2,389,627 2,389,627 1.0 2,272,783 2,272,783 95.1%
h. 2Ot

h=1 A X1 L SHAl Hi=#2& 2Xtd CH 2.0 54,675,000 109,350,000 2.0 90,000,000 180,000,000 164.6%
Lh=2 UK X 2 Sl Hl3 33Xt CH 2.0 72,900,000 145,800,000 2.0( 110,000,000 220,000,000 150.9%
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